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now nm oy 0<x<a, 0<ys<b 19m Uxx + Uy = 0 oved nxnwn. |

1

u(,y)=0 o0 nzy _nhzy
(©.y) sin 17X u(x,y)=> |a,e * +be 2 sin 17X
u(a, y)=0 a — a

_ o (2n+1) zy (2n+1) 7y
u,(0,y)=0 {cos (2n+1)7zx} uy)-3|ae 2 +be = Cos(2n+1)7rx
u(a,y)=0 2a Rt " 2a

. o (2n+1) 7y (2n+1) 7y
u0,y)=0 | [ (2n+Dax )= |ae = +be 2 |sin (2n+)7x
u.(ay)=0 2a ’ rd " 2a
u,(0,y)=0 0 nzy _hzy
«0.) 1,cos X u(x,y):p+qy+z ae?® +be @ cos X
u.(a,y)=0 a 2 i a
u(x,0)=0 > X -1rx
(x0) sin 7Y u(x,y)=> |a,e ® +be ° sin Y
u(x,b)=0 b ' b

_ - (2n+1) zx (2n+1) zx
uy (x,0)=0 {COS @D =S lae » 1be B cos 2N+ )7y
u(x,b)=0 2b rd " 2b
u(x,0)=0 . (2n+1)ny e (2n+21b)nx —(2";)“ _(2n+)7y
0, (x,6)=0 {sm o0 } u(x, Y)—nzz;J a, € +b.€ sin“—— =
u, (x,0)=0 B nrx _nzx
Y {1,cosw} u(x, y) = p+qx+z ae b +pbe b cos 7Y
u,(x,b)=0 b 2 = b

2 2
NPIVIP MOLPTNINIPA a—l: la—u+i2 d li =0 D292 nxnwn. I
r ror r<oe
u(r, o) =%Olnr+ io]l(anr” +bnr_”)cosn0+ 5 (cnrn +dnr_”)sin né
n=

n=1
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nowson oy 0<x<a, 0<y<b 119m1 Uxx + Uy =0 ooy mxnwn mine

D) (0<x<2,0<y<4),u(0,y)=u(2,y)=u(x,0)=0, u(x,4) = 1, 0<x<1
’ y 1 YX !y_ !y— y =V, ) = 2_X’1<X£2
2) (0<x<7z,0<y<x) u(x0)=u(xz)=0,u(0y)=0, u(z,y)=siny

(
3) (0<x<4,0<y<2),u(x,0)=u(x,2)=u(4,y)=0, u(,y)=y2-y)
4) (0<x<4,0<y<2), u(x,2)=u(4,y)=0, MQy):yQ—yLlMKO):3§n%F

-y, 0<y<2
5 (0<x<2,0<y<4),u(x,0)=u(x,4) =u(2,y)=0, u(0,y) =
0, 2<y<4

6) (0<x<1,0<y<2),uy(x0)=uy(x,2)=u(0,y)=0,u,(Ly)=1-2coszy

2 2

X —sin“ X
O<x<rm,0< y<7r), u(0,y) =u(z,y) =u(x,0)0=0, u(x,z)=sin3x

37X

(
) (
7) (0<x<7m,0<y<1),ux(0,y)=uy (7, y)=0,u(x,0) = 2cosx, u(x,1)=cos
) (
9) (0<x<a,0< y<b),u(O,y):uX(a,y)zo,u(x,O):sinZ—;,u(x,b):33in2—a

10) (0<x<1,0<y<7),uy(x,0)=0,u,(x,7) =—zsin2zx u(0,y)=0,u(L,y) =y

o*u 1lou 1 d%u
DN DINNA NAWONIN DY — +=—+———=0 029D ANNWH NI . I
or ror r°oé

0.10, 0<O<r7

027-0.160, n<6<2rx

12)0<r<a, u(a 0)=4a+3aacosd—5a’sin30

13)1<r<2, u@Le) =0, u(2,0)=6, 0<h<2x

14) r>3,u(3,0)=220-60%, 0<0<2x

15)0<a<r<f, u(a,8)=1-sind+3cos26, u(p,0)=0, 0<0<2r

11)0<r<3, mam:{

DINYN NTIN NVIVWA DYHY NINNWN 1IN T
16) Uy +Uyy —2u=0 (0<x<7z, 0<y<n)

u(x,0)=u(x,7)=0, u(0,y)=siny, u(xz,y)=3sin2y

1I7) uy +Uy =5u=0 (0<x<z, 0<y<n)
1l O<x<0.57

u(x,7) =uy(0,y) =0, uy(7,y)=0, U(X’O):{o 057 <X<7
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COoS (2n+1)7[ 2n+1 2n+1
16 & A Gy BTV (on+1)ax
Du(x,y)= 2 2( 4 @2n+)7 —-(2n+) 7 € —€ COS————
7 =0 (2n+1) (e —e ) 4
1 “w) s
2)u(x,y) :e”——‘”(ex —e X)sm y

© —(-]N" ang X
Yuxy) =23 LED fenmuiz_ " |p MY
7o nt(@1-e""7) 2

LR © ()" [ "EX g nEX
4)u(x,y) = 3 e+ —-e 4 sinﬁJrl—B3 %eZ _e "2 |sin?™
1-e” 4 n=t N (1—9 nzr)
4 nz 8 nz
» —_CO 7_ 2 25|n7 nzx PLLLES 7y
5)u(x,y)=zn” n 7z e 4 —e 4 |sin
- 1_enﬂ'
2 X -7 X
B)u(x,y)=x——— (""" —e"")cosxzy
7" +e’ ")
7)u(x, y) :%(ezy —e‘zy)cos2x+1 > (ey —ez‘y)cosx
e‘—e —e

1
BUX V) =5
e —e€

-3z

(e3y - e‘3y)sin 3x

3 3zyl(2a) “37y/(2a) | iy ST
9ulx,y)= p3rbl(2a) _ o-37b/(2a) (e —€ )sz +
+ 1 (ezry/(Za) _e—ﬁy/(Za)enb/a)Sinﬁ
1_e7rb/a 2a
1

10) u(x, y) = (ez”y +e‘2”y)sin 27X +

Z[EZHZ__e—Zﬁzj

2 < (_1)n -1 ( nx

T —nx
+—X+— 2 - e —€ )cosny
2 Than ie —e )
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o) N ayn 0 2k-1
11)u(r,9)=%+£2(£) Lcosnezl—% (Lj ﬁcos(Zk—l)e

~\ 3 n? 20 7 Z\3
12) u(r,6) = 4a + 3va rcos @ — 5r° sin 30
Vs < 1 Zny
3)u(r,d)=—Inr-2 ——————(r" —r")sinnd
Ju(r.0)=Dinr=2)

2 0 n
14) u(r,0) = 27; -4y :2 r" cosn@
=1

1

_Inr—Ing 3 2 42 .
15)u(r'9)_lna—lnﬂ+a2_,3405*2 (r°=p"r)cos20 a—ﬂzofl(
_ 1 \/§x_ 23 7-3x )\ i 1

16) u(x, y)_—l—ez*@” (e e )sm y+ —e*@” o

— 0 [ 2 [ -2 2
17) u(x,y) = 7[2 Yoy a, (e 45y _ g27Vn"+5g=Vn +5yjcosnx
n=1
2 . Nz
a, = sin—

27N n2+5 )

nz(l-—e

(6 o)

r—p%r*)sing

sin2y



